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3T AEED R OTHETR BN B2 (2024424 7 1 HBRAE)  (2FFE-Z02)

X4y 405% ~ 445% ~ 487% ~ 525% ~ 565% ~ 607% ~ s ST P

- 4375 AT 513 557 597 oo | OORRELL | TR
A A A A A A A %

4 ifi W7 A B 7,986 8,178 8,555 7,760 6,842 3,282 70 40.6
4 OB 3,748 3,726 3,699 3,496 3,623 1,892 40 42.5
W R 3 4,238 4,452 4,856 4,264 3,219 1,390 30 39.2
i 2t 3,958 4,194 4,546 3,938 2,966 1,341 30 39.3
W R 3 280 258 310 326 253 49 - 38.5
S 371 420 386 324 245 73 - 39.3
fi] [ 358 391 395 306 234 142 8 39.1
- " 319 364 452 325 272 114 1 39.3
w7 A 78 54 76 80 77 25 - 39.9
B H il 121 104 116 117 106 61 4 38.5
 OH H W 256 248 291 235 142 89 - 38.3
o i 150 188 235 187 138 45 3 38.3
H = hn 80 74 99 105 85 32 - 41.1
oW 102 82 83 101 79 34 3 40.7
X S A 114 92 85 77 76 42 - 37.8
w 2] i 257 341 368 273 242 190 1 40.6
Z W il 111 107 100 99 104 24 - 38.5
wOR W 155 175 202 152 128 85 - 41.0
i T | S ] 89 86 125 137 55 32 4 38.5
N (L il 66 62 48 46 38 1 - 38.5
H wooom 87 91 83 81 35 26 3 38.3
FAN | i 50 80 78 51 28 7 - 38.8
/h G/ G 193 180 215 173 132 43 38.7
T W 119 108 129 136 102 33 2 39.7
Booos il 84 116 104 90 57 18 - 40.2
BT 102 79 70 60 56 14 - 38.4
x i 91 73 68 53 40 30 - 40.7
0 % W 42 48 52 38 36 25 - 37.4
0 ST 40 38 32 35 34 25 - 38.8
B ok | oW 62 46 82 56 44 22 - 40.3
] e i 20 25 24 24 14 9 - 39.1
= - N 47 37 49 31 17 2 - 39.6
= G il 56 33 20 51 41 7 - 40.2
H 1k b 48 61 66 59 34 5 - 41.0
2] JR il 47 70 78 80 40 24 - 40.4
= i i 25 51 70 43 35 6 - 39.0
- B ] 22 29 32 46 32 2 - 37.7
4 & & 41 45 43 72 48 14 - 41.0
R 5 i 25 28 31 34 20 11 - 38.6
Hoox L W 58 62 55 56 38 15 1 40.3
» x i 42 73 56 62 36 5 - 39.8
E A F W 30 33 48 43 26 9 - 39.0
R g H7 24 30 28 35 16 1 - 38.8
&= (L iy 15 10 11 8 13 - - 38.3
x u] iy 12 24 27 21 17 6 - 42.0
IS F M 29 16 11 22 22 7 - 39.4
x FEN 1 4 11 15 21 15 3 - 38.3
% L HT 18 26 24 20 15 5 - 37.2
i B 7 8 8 10 4 - - 36.8
[/ = ] 21 14 15 20 10 3 - 37.5
R o T 30 23 32 25 21 6 - 35.7
[EZ S 19 7 19 25 20 3 - 40.1
% s Ly 12 10 20 28 22 1 - 39.8
i & Ly 34 22 25 30 26 5 - 38.0
3 M iy 30 34 43 31 28 6 - 38.7
4 L 1) 6 12 13 17 11 - - 41.3
L O < 1] 13 8 12 6 5 3 - 39.7
A | 6 3 7 7 8 - - 42.6




H3F AEHR DI K OV IT AL BT B % (202444 H 1 H BL/E)

(—BRAT B - = 1)

X4y o = TS 187% ~ 207% ~ 2455 ~ 287% ~ 325% ~ 36% ~
TR 4 et IBA 193% 237% 2755 315% 358% 39145
A A A A A A A A
4 TH WY k3 29,035 39 1,396 2,898 3,225 3,462 3,373
4 B 9,044 10 335 813 853 1,068 1,163
oW R 3 19,991 29 1,061 2,085 2,372 2,394 2,210
M 2t 17,891 20 918 1,840 2,092 2,106 1,967
W R 3 2,100 9 143 245 280 288 243
= & i 1,353 - 66 143 179 146 175
i I S ) 1,159 2 62 130 148 143 103
— ®m W 1,176 1 79 142 116 131 104
w7 A 440 - 20 42 68 59 46
B H 445 3 41 55 57 52 39
= B H W 854 - 54 100 89 108 98
| 669 1 33 82 78 60 45
H = hn 315 - 15 16 34 39 43
oW 373 - 15 25 36 36 36
D 702 - 37 84 92 104 66
. m 1,538 3 74 134 143 178 180
= W il 734 1 50 86 74 79 99
mOR i 595 1 18 44 48 39 71
i il i 399 3 29 36 53 43 51
N W 282 - 14 25 26 32 31
H wooom 262 - 17 31 43 37 33
b < B 299 12 19 39 43 43
/h G/ G 578 - 29 55 67 69 71
i N i 495 - 9 53 74 60 46
Booos il 356 1 18 33 45 43 39
BT 424 - 16 36 70 68 61
x i 303 - 13 25 32 40 39
Fall %2 337 - 17 46 57 56 41
S N VA 1 ] 255 - 12 23 32 38 30
B 8k | oW 312 - 17 21 36 44 40
] e i 188 - 8 32 16 25 26
= - N 192 1 5 8 21 37 31
= G il 251 - 12 14 22 28 46
H # W 354 - 9 32 37 35 33
2] Ji i 341 3 19 29 28 38 22
= i b 271 - 22 39 30 18 23
& /oo 242 - 11 35 35 26 26
4 & Bh 254 - 7 24 24 22 32
R 5 i 199 - 9 27 27 21 14
AHoX L oW 294 - 13 47 38 34 22
H x i 362 - 25 34 38 42 29
E A F W 288 - 11 33 40 33 33
R IS T 194 - 16 11 25 28 27
&= (L Ly 106 - 5 11 17 19 17
x 5] iy 131 - 6 18 9 13 9
IS F  HT 154 5 19 19 25 21
x FEN 1 155 8 25 29 23 10
B T HT 134 - 10 18 21 18 19
e B 77 - 7 11 13 10 8
for A b HT 118 2 13 10 17 13 19
L U I 1 230 1 18 26 37 38 33
B o % T 122 - 9 15 11 15 17
% s Ly 120 1 7 15 14 18 10
i & Ly 188 2 11 24 23 25 20
3 M iy 220 2 14 27 27 26 23
4 L 1 64 - 6 7 6 7 3
L O < 1 52 - 3 6 8 7 3
A | 35 - 5 2 4 3 4




H3F AEHR DI K OV IT AL BT B % (202444 H 1 H BL/E)

(—BRAT B - 0D2)

VAN

405% ~

A45% ~

481% ~

52/% ~

567% ~

607% ~

X5 e ST P A

S, A37% AT 517 557 597 oo | SORELL | TR
A A A A A A A %

4 i My A F 2,730 2,859 2,958 2,900 2,327 866 2 40.9
4 o R 987 1,045 954 761 777 278 - 41.5
[ 1,743 1,814 2,004 2,139 1,550 588 2 40.7
it} Hi 1,590 1,669 1,824 1,922 1,381 560 2 40.9
A E 153 145 180 217 169 28 - 39.3
2 B i 127 141 122 128 101 25 - 40.2
fif] ey 114 118 100 119 79 39 2 40.3
- 7 i 70 105 149 115 102 62 - 41.3
W = i 40 28 37 41 43 16 40.5
e H il 40 28 26 41 39 24 - 39.5
xE OH H oW 84 80 84 99 37 21 - 39.8
&2 I il 43 82 95 81 57 12 - 41.5
H = i 24 16 34 45 35 14 - 42.9
ZH E] i 47 32 41 52 35 18 - 43.3
X S il 74 64 52 51 54 24 - 39.7
& M il 119 154 182 154 129 88 - 42.1
7 W il 70 65 55 72 67 16 - 40.2
[if) 23 i 54 68 79 71 58 44 - 44.3
C R 1 S 1 35 31 43 54 18 3 - 39.7
N il i 41 34 24 28 27 - - 41.0
it e i 30 20 12 29 9 1 - 37.8
T T 27 40 31 30 13 2 - 40.3
A BTl 63 54 55 55 55 5 - 40.5
i /N ] 50 32 41 70 49 11 - 41.3
Booow 30 31 41 44 21 10 - 40.8
Wy T 46 39 32 28 22 6 - 38.9
X i 39 31 22 26 20 16 - 41.2
mo% W 23 20 25 18 16 18 - 38.4
Pl YA il 19 20 25 21 18 17 - 41.0
B 8k B 27 23 45 30 23 6 - 41.0
= b i 13 12 21 17 11 7 - 39.8
=R - N 29 15 19 18 8 - - 40.1
| i 38 15 14 31 29 2 - 41.6
H # T 34 41 51 49 28 5 - 42.4
e} Ji il 23 37 48 57 26 11 - 42.8
% T 14 32 41 26 23 3 - 40.3
i ZH il 9 19 22 31 27 1 - 40.1
4 5 B 19 19 22 49 27 9 - 43.3
G S S 12 19 23 26 14 7 - 40.8
HZok L T 25 29 28 34 19 5 - 39.7
» * i 22 52 45 49 22 4 - 41.1
E A T W 16 23 38 33 20 8 - 40.8
J; O ) 15 16 18 24 14 - - 39.9
o 1 my 7 3 10 7 10 - - 38.5
N ml iy 8 18 17 15 14 4 - 42.4
E7S E'3 Hy 13 9 5 16 19 3 - 40.1
x if my 2 9 15 19 13 1 - 38.5
E T my 9 13 10 9 5 2 - 37.5
e L= ) 5 5 6 9 3 - - 37.5
1 7N 1] 7 8 6 12 8 3 - 38.3
I U I ) 17 13 19 17 9 2 - 37.3
Mo % 0y 11 5 9 15 13 2 - 40.3
ES blie my 7 5 10 18 14 1 - 40.4
® o Hy 20 12 13 20 16 2 - 39.3
E3 H i3 19 19 27 16 15 5 - 39.3
B %8 my 2 5 7 12 9 - - 41.8
" 5 iy 7 4 6 1 4 3 - 39.5
=R 4 1 2 7 3 - - 40.3




